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2° PROVA - Testo letterario

Comprehension and interpretation

1F

2F

3T

4F

5NS

6 Because the levees have broken, the city is underwater and the water keeps coming. The flood
will take months or years to recover from.

7 It rises 6 feet.

8 He doesn’t panic, but instead is very calm and rational. When he sees the water, he calculates the
effects in a logical way. He calls Kathy and is very calm on the phone. He starts moving their
belongings upstairs, carefully prioritising what he thinks is important and wants to save. We are
told, “Methodically, he began to prepare. Everything of value had to be brought higher. The work
was simply work, and he went about it calmly and quickly.” (lines 28-30). He also avoids having an
argument with Kathy about the insurance as he knows that won’t help.

Written production.
Open answer.

2° PROVA ¢ Testo non letterario

Comprehension and interpretation
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6 Because they are the biggest areas of ice in the world, apart from the Arctic and the Antarctic
regions. They are also connected to ten of the world’s most important river systems across eight
countries.

7 Because the population in this area, one of the most polluted areas in the world, is expanding.
More people means more air pollution due to energy consumption, transport, factories, etc.

8 The melting ice in spring and summer will increase the amount of water in the rivers during these
seasons in the short term.

Written production.
Open answer.
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